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1. (a) “Previous year as well as Assessment year are financial years yet they are

not the same”. Discuss. (5)

(b) Mr. A, an Indian citizen, who is appointed as a technical consultant by the
Government of Canada, leaves India for the first time on September 25,
2014 for joining duties in Canada. He furnishes the following informations in

respect of his income for the previous year 2014-15:

— Salary from an Indian company while posted at Mumbai (before leaving

India): 5,00,000

— Salary from Government of Canada equivalent to Rs. 40,00,000.
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— Interest received from Government of India (It is paid to him in Canada,
the money is utilised in a project outside India) Rs. 200,000.

Determine his residential status for the assessment year 2015-16 and compute

(c)

(a)

(b)

his taxable income for the aforesaid year. (5)

“Explain the scheme of partial integration of agricultural income with the total
- income for computing tax liability. (5)

OR

Mr. Z, a British citizen, whose Grandfather was born in Delhi in 1945,
comes to India every year to celebrate Diwali with his friends. During PY

2014-15, his stay was for the period from 1st Nov 2014 to 3]
Dec 2014.

His stays in India during last 7 years are as follows :

Py 2013-14 I** Nov 2013 to 25" Dec 2013
Py 2012-13 1* Nov 2012 to 25" Jan 2013
Py 2011-12 1* Nov 2011 to 12* Jan 2012
Py 2010-11 1** Sept 2010 to 10" Feb 2011
Py 2009-10 1** Sept 2009 to 31 Dec 2009
Py 2008-09 I** Oct 2008 to 15" Feb 2009
Py 2007-08 1** Oct 2007 to 15™ Jan 2008.
Determine his residential status for the AY 2015-16. (5)

State with reasoning whether the following incomes are Agricultural
Income or not.

(1) Income from sale of trees grown spontaneously in assessee’s farm
in Punjab.

(1) Income from Dairy farming.

(iii) Rent received from a tenant to whom land has been let out for
cultivating wheat.
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(iv) Income from growing flowers.

(v) Income from breeding of livestock. (%)

(c¢) Discuss briefly the term ‘Person’ u/s 2 (31) under the Income Tax act 1961.

(5)
() froen 7§ sic a @ Frefeor af fcfir a8 ¥ i o ¥ w7 § 1 T AR o

(@) =z A SRE &1 RS | I FHAR F WEHR T ThAa Teehi D ¥ ¥ Fgad
foran T 2 1 98 TEel R 25 R 2014 F FE ¥ WA VAW B o wRa Sig
R T o | 98 Ted o 2014-15 @ f s s D Hau R FrafaRed g o
2:

- WRE 9 HEN A I A9, T Iq 9l qaE A A@ 5,00,000 =
- TR @ @R ¥ 39 40,00,000 T =0

- WRE WER A 200,000 T = W Fra (T8 3 e R ok e afl
WRA A T A IRAET A @ A @ )

- Zua Fukor as 2015-16 = fre Rewd Rafs w1 Frufor iR ok soged a8
B forg Suah o A T T A il |

() R I = ST e B fore T 31 el I A FI: AT e
ISl & ARAT HIT |

gt

(®) frex (7> R 1 ARE 2 | SAH T Reehl ¥ 1945 A w0 41 | @ W A FH
fil & T A TR W’ AT S | few ad 2014-15 & R @8 1 & 2014
Y 31 R 2014 9% ¥WRd & @ AT | ‘
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% fiod 7 a9 ¥ 3@ UER 9Ra ¥ o

izt af 2013-14 1 79X 2013 ¥ 25 REwR 2013 9
izt af 2012-13 1 R 2012 @ 25 ¥=a8 2013 9
foat a¥ 2011-12 1 F9R 2011 ¥ 12 S=@Q 2012 9%

fisa =t 2010-11 1 REsR 2010 & 10 w&EQ 2011 9%

fosat af 2009-10 1 R 2009 ¥ 31 R 2009 T
iz T 2008-09 1 3SR 2008 | 15 ®@&EA 2009 qF
fizst =f 2007-08 1 ¥R 2007 & 15 TG 2008 7

Frefen ad 2015-16 @ R saat srEra Rafy = frefkor S |
(|) FRU I Ik Ffog e PR o) e o $ a8
(i) 38 < ot A g S v ¥ FriRE B vt ¥ Do w ¥ 90 W@ A
(i) & Wi ¥ s
(iii) FFreeR @ W e Rt A TR @ Pe 709 ARw w9 S
(iv) o I @

(v) 9que aem A 3

(1) s wR affaw 1961 & Siwia uw 2(31) & vea ‘=i’ = < G99 F ¥
T |

Mr. X, aged 40 yrs, residing at Mumbai working as marketing manager received
Rs. 6,00,000 as basic pay and Rs. 1,20,000 as bonus and 50,000 as DA
(forming part of basic pay). He also receives 1% commission on turnover
achieved by him. During the year he made sales of Rs. 90,00,000. He also
received Rs. 2,40,000 as HRA during the year. He paid Rs. 2,40,000 as rent
for his house. He contributed Rs. 120,000 towards his recognised provident
fund A/C to which his employer also made matching contribution. The amount
of interest credited to this during the PY 2014-15 @ 10% comes to Rs. 40,000.
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He also received Rs. 300 per month per child as education allowance for his
three children. He was provided with 1600 cc motor car with driver facility
by his employer. It was used by Mr. X for both personal and official purposes.
During the 2014-15, Company gifted Mr. X a wrist watch costing Rs. 15000
on his birthday. X’s employpr company paid Rs. 2000 as Professional tax on
behalf of X. He raised interest free loan of Rs. 20000 from the employer on
1-4-2014 to buy furniture. During the Previous Year, Mr. X contributed
Rs. 20,000 towards Public provident fund. He also paid the following LIC
premiums during the year

On his own life; amount of premium paid; Rs. 9000, sum assured: Rs. 80,000,
policy taken in January, 2015

On the life of his married daughter: premium paid: Rs. 14,000, sum assured

- Rs. 1,00,000 policy taken in September, 2014.

On the life of mother dependent on him: premium paid: Rs. 2000, sum assured:
Rs. 50000 policy taken in March 2014. Besides the aforesaid payments, he
donated Rs. 20000 to National Defence Fund.

Determine his Total income and tax payable for the AY 2015-16 assuming he
earned an interest of Rs 30000 on his saving bank A/C maintained with State
Bank of India during 2014-15. (15)

OR

(a) Briefly explain the provisions relating to tax treatment of Gratuity received
by an employee covered by the Payment of Gratuity Act, 1972. (5)

(b) TIllustrate provisions of the Income tax act relating to tax treatment of
commuted pension. (5)

(c) Briefly explain the provisions of Income Tax Act regarding valuation of
rent free accommodation provided by employer to its employee.  (5)

et X o 39 40 T 21 7% waE ¥ wan @ IR Reve veuw @ @ A W w2
A 600,000 & I I R 1,20,000 & W@ T 50000 T FEMS ew Freren B (FEE
VI W AT T A A ) | I IR E ST T W 1% FA ;e 2
7@ af & I IEX 90,00,000 T I ¥ & 1 IV 3@ A 2,40,000 T e fhw@r s
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W RO | 38 3 W @ R R @ w1 2,40,000 & fav | I8 39 wFgaT
Wiaw ff o) @ R 1,20,000 = =T IREw forar fom 3 ¥ Faear 3 f o @
AR =1 ArerT e Py 2014-15 & <R Tad W fe g warer 9 f 10% 2% w
A 40000 & BF 21 3 300@Mﬁm%mm—ﬁ%m#m§q
r TSR el a5 21 33 1600 cc &t #eT &R % & T 3k P aw
mﬁgﬁmﬁaummﬁmxﬁmaﬂzwﬁm%ﬁmélm
7 few X =t o 2014-15%au=raa%mﬁaawwmaﬁa§mﬁamaﬁ
AR 15000% 2 1 X R Frieer-wed 3 X 9 AR A AERE T D T F 2000 ©
ST e 1 FE wehR @l D Rre 1.4.2014 9 a3 20000 T W =T JER
forar 21 et o Ry X X afafe sfrss Sify & 20000 & = AN fFar @ | 39
¥ FefRes LIC Wiaw & fe 2.

A I e R : Ry At 9 i 9000 =,; SmHa AR 80000 T; Gierd TR
2015 % <& wE o

Ial faafea I8 @ e w - Rfw o 14000 =; & 1f&r 1,00,000 %; 9RE R
2014 = &t T

S8 R R A R ST W) R Rar 2000 ;S 50000 & uiferdt 7t 2014 %
T R Sudem seEhEy @ FEE JAT 20000 T T Twew [y A 7 Ro |

SE el 9§ 2015-16 & R 5w o 3 T T @ Fefior ARG 78 A B gay
2014-15 % A Re W 3w 3Rar % G 7 T 39 @R w 30000 T =T e faar & 4

AT

(F) It serrt st 1972 % 78R T At A Rkt edt w aw w3
T S i we Y wwer B |

(@) Whﬂwm%mma&ﬁm%mﬁaﬁ%%lm
) e Fifod

() ﬁﬁwmmmﬁ&faﬁﬁvm%ﬂmmm%@m%ﬁ%m
maﬁﬁmﬁwﬁaﬁw#maﬁﬁm

(a) Mr. X has occupied two houses for his residential purposes. Particulars of
these houses are as follows:
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House 1 House I}
Municipal valuation 90000 30000
Fair Rent 80000 32000
Standard Rent 75000 36000
Municipal Taxes Paid 10% 10%
Fire Insurance 6000 360

Construction of both the houses were completed in 10* July, 2012, however
X had to borrow Rs. 20,00,000 @10% pa for the construction of house-I
(Date of borrowing’s July 1, 2009). Loan is still unpaid.

Compute his taxable income and tax liability for the AY 2015-16 assuming
that his other incomes are 4,50,000. (10)

Define ‘Capital Asset’. State whether the following are capital asset or
not :

(1) Gold held by Jeweller.
(i1) Right to subscribe shares.

(111) Personal Mercedes Car (5)

OR

Mr. X sells his residential house property situated at Delhi on 1st August
2014 for Rs. 20,00,000. Its stamp duty value is Rs. 25,00,000. Expenses
on sale come to Rs. 20,000. The house was purchased on 15" Oct, 1984
for Rs. 50,000. He incurred Rs. 1,00,000 during 87-88 on the renovation
of the house. Mr. X purchased a residential house at Faridabad for
Rs. 12,50,000 on 1* May, 2015. Compute the capital gains chargeable to
tax. Cost Inflation Index for 1984-85 is 125, 1987-88 is 150 and 2014-
15 1s 1024. Also state the conditions to be fulfitled by Mr. X to avoid
withdrawal of aforesaid exemption. (10)

Briefly explain the deductions altlowed U/S 24 from Annual Value while
calculating Income from House Property. (5

PTO.
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(%) ﬁmxﬁaﬁm&%mam%zﬁ%lﬁm%ﬁmﬂwm%:

w1 W 11
e T 90000 30000
Shm e 80000 32000
wHS 75000 36000
wAfma-ax Ry T 10% 10%
T S 6000 360

A9 wEEY @ BEf wd 10 9O 2012 @ @ A W oA T X R
20,00,000%. 1 FHH A 1 D Friw B o 10% Wiy a¥ @ T A 1 A
(2o A N XG@ 1 A 2009) | FHA I TH A B

B a8 2015-16 @ Fre I a% A J7 AR o - AR F AlTEwT BT,
T W ) T 39 3 IR 4,50,000 ® T

() e e ot o R | Fever Aoy fo PR e Rt 2 o

el

(i) SR D 9 G

(ii) R ¥ et 1 SR
(iii) afFawa AESS B

dr

() Fieet X s Reehl ¥ Raa TG 6 - Faret =l 20,00,0006.%‘ 1 3 2014

Fa ¥ 2 | TR wET A A 25,00,000 T 2 1 Reht | e W@ @ 20000
¥\ 9% W 50,000 & ¥ 15 AR 1984 T @A T A | IaT 1,00,000 T &
1987-88 ¥ | & R W @ frg A1 Breer X X 19 2015 A 12,50,000
& ¥ v Rewd we wlemre ¥ wie R | 3a Gl @ & sifveer i
R T T 1 1984-85 B forg T - TR TR 125, 1987-88 F 150 3
2014-15 3 1024 2 1 919 & ST BT B 9@ 97 ¥ T & fore et X 1 e
T Y QI HAT WY, Jeokd Hiiog |
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From the Profit and Loss Account of Mr. R (age: 45 years) for the year
ending March 31, 2015, ascertain his total income and tax liability for the AY
2015-16:

Rs. Rs.
General expenses 9500 Gross profits 450500 -
Bad debts 12000 Commission 9600
Advance tax 6000 Brokerage 40000
Insurance 600 Sundry receipts 3000
Salary to staff 24000 Bad debts recovered (earlier

Allowed as deduction) 18000

Salary to Mr. R 60000 Interest on debentures

(net amount Rs. 22500 + Tax
deducted at source: Rs. 2500 25000
Interest on overdraft 3600 Interest on deposit with a
) company (13500+1500 TDS) 15000
Interest on loan from Mrs. R 36000

Interest on capital of R 23000
Depreciation 50000
Advertisement Expenditure _ 7500
Contribution to employee’s RPF 12500
Net profit 316400
561100 561100

Other information :

(1) The amount of depreciation allowable is Rs. 42000 as per income tax
Rules. It includes depreciation on permanent sign board.

(ii) Advertisement expenditure includes Rs. 3500, being cost of permanent
sign board fixed on office premises.

PTO.
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(i) Income of Rs. 4500, accrued during the previous year is not recorded in the
profit and loss account.

(iv) Mr. R pays Rs. 8400 as premium on own life insurance policy of Rs. 70000,
policy taken during the PY 2014-15. '

(v) General expenses include (a) Rs. 1500. Given to Mrs. R for-arranging a
party in honour of a friend who has recently come from New Zealand,
(b) Rs. 1000 being contribution to a political party.

(vi) Loan was taken from Mrs. R for payment of arrear of in.come tax.
(15)
OR

(a) Discuss the tax treatment of the following transactions/receipt reported
by Mr. X during the previous year 2014-15;

— Interest on enhanced compensation received

on march 12, 2015 Rs. 100,000

— Advance forfeited on failed transaction of transfer
of capital asset on December 10, 2014 50000
— Share of profit from HUF 50000
— Winnings from lotteries (net) 35000
— Dividend from an Indian company 20000
(5)

(b) Profits and loss A/C of AB & Co (a firm of Chartered accountants) for
the year ending March 31, 2015:

Depreciation 1,50,000 | Receipt from the client

and audit fees 5,00,000
Expenses 2,00,000 | Dividend From Foreign Cos.  1,05,000
Remuneration to the partners 4,00,000 | Net Loss 2,50,000

Interest to the partners @15% pa 1,05,000

8,55,000 8,55,000
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() Out of expenses of 2,00,000, Rs. 70,000 is not deductible by virtue
of section 36 & 37.

(i) Dépreciation admissible as per Section 32 is 1,35,000.

(i) The Firm satisfies all the conditions of section 184 and 40(b).

Find out the amount of Net Income of the firm for the assessment year

2015-16.

(10)

fret R (3G : 45 af) & o 3R oY A ¥ 31 7 2015 N w0 B O D
o Saat fuker ad 2015-16 & fow e @ 3k W afde @ Frafor 9 fg |

T @A
FMeA H
Fhm ==

EL]
HHARA & A

et R =1 359

ARGHR R &

firr R Y =01 R =
R & ISt W &=
T e

faT ==
FHAU RPF A AneA
Raa @™

Lo
9500
12000
6000
600
24000

60000

3600

36000
23000
50000
7500
12500
316400
361100

qHA ™
AT
e
fafaer it

s F& w7 (RAw
Fek U Wiga @t T )
Rl = ==

(Fea offt 22500 & + &
W ST T w2500 T )
HF A W W =
(13500+1500 TDS)

L
450500
9600
40000
3000

18000

25000

15000

PTO.
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(i) = Jeaeme o U 3 e & FER 42000 © 2 1 5Ed Tt g St
R AR A 2 |

(ii) foeT =& @ A 3500 T WA & N wEtod & IReR § Tl ¥4 K oAy W0 AT
AT = A 2 |

(iii) Troa ad Jufm 4500 T 9 3, T IR Y AW ¥ R =18 =t 7 2+

(iv) R R 70000 % & S S el W 8400 & HMiftas 31 2 A Wi s
2014-15 ¥ R 7 A |

(v) amra & § (F) 1500 T mhe ¥ o P9 R 9 v B & @ § ol =
e wA & fog ffr ww F, @ s & ¥ oo @ s R0 (@) 1000 ®
Teriifae e o T o

(vi) m@ 3@ X & seEt & fog fRm R @ 7o formn @
3Tt

() Fieee X g € i RS @ e R af 2014-15 % R e 324t/ wiidl W aw

it Agar Fi a6
-~ W WS WY W s 12 9 2015 W g 1,00,000 &
- 10 feg= 2014 =t It wReaRy & a8 Fawa

AT R S M o T R 50,000 =
- HUF ® @™ = e 50,000 <.
- oieRal ¥ ok o wfyr (Fraw) 35,000 &
- YRIE HURA ¥ W 20,000 =

(|) ABTw FF (WEE el N v W) W 31 A 2015 B w9 e ad @
fore @t Ak = S
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kSR 1,50,000 | wrent ¥ Wikl ik
@ wden Ieh 5,00,000
@ 2,00,000 | faesht dt ¥ wmw 1,05,000
VAR A R 4,00,000 | et =1f% 2,50,000
AR & 15% 9 ad
T WA =W 1,05,000
8,55,000 8,55,000
H I
(i) 2,00,000 T & == X ¥ 70,000 T URT 36 3K 37 B RV HE TE AN |
(ii) U1 32 & FTER [Whd T W 1,35,000 T B 1
(iii) 3 4RT 184 3 40(b) T TN vl F1 dge =@ 2 1
fFruRor ad 2015-16 @ g & =6 Faw s 7 Ak
5. Attempt any Three :
(a) When an individual is assessable in respect of income from asset’s
transferred to the spouse {section 64(1)(iv)}.
(b) Discuss the provisions of set off and carry forward of loss from House
Property.
(c) What is the time limit for filing up of return of income under the income
tax act ?

(d)

(e)
®

Briefly explain when audit of account by certain person is compulsory under
section 44AB.

Deduction in Respect of rent paid (Section 80GG).

Briefly explain the judgement delivered in the case law of CIT Vs Raja
Benoy Kumar Sahas Roy. (5%3=15)

PTO.
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(F)- o=l =i HaRa aReufaal ¥ e arclt s & wau § A & o Fuid g @
- (IR 64(1)(iv))

(@) & EaR | B h T A S ST e e e e A |
(1) 3@ X i @ sita s @ Ret aiae & & forg e e 2 2

(a) @&y ¥ ren SR & P afem g7 o &1 okar 9T U 44AB @ iR
e B 2 ?

(¥) =< fawm & d9u § wd@ (4@ 80GG)

(F) CITw ™ T A w9 9ea @ =0 29 [ F Ry o ok o w8y ¥ =ren
AT |

(1000)
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